1. C Z. B=200 Klst/»

ol , . é’ 6 6
. QM; o -”d_ 3 10 ~ 333 x o = 3336hit/» AsC amb, “’HW”M’"’
LY v60-bo an bl
0]
A
8. A
3.,  C=|nltrp 20— 0—00—0—
_ 3 _ Zo 3 2 '
Vt)'lngo 0” Kom /1 -{-P—E\OT\‘P—;‘E—LSXIO ) 5(. IP . 142, 2, 1010 0000 , oMY
(}‘: 3000 k{m Lxy be _ (QOD )(3 _ L: 8Xl0-2); ‘T‘Pl] : 1q2'2' 40}00 0, 0o 0000 A
t =7 0 TS T e 100 .
L = tow by ty L Tea . 142,2, 1000 0|0 . 0o @00
S wa}"m

TIP3, 143, 2, 1000 10|00 . G0 000
‘(1‘4\‘0} :fp +J({_ 29.5x02p = a5 mh

(0,
B P( cobezo) = 1=P(& gliws) = 1= (1-p)°- (1+5p)
'4'
P((?‘I(dhrﬁo): F(l&n"]fnm) ‘fP(W-{FM) = (l’P)6+ 6P('|'P)§: (l_P)s-_(“sP)
b. C
P(mamﬂym): (I“P)é
6. 2000 ~ 1700 +1200 = |00 C ?(M'lfnmo):épﬁ—,af

o' fon mnidin oty o oo £ 16X 8ps = (2815
A R S M B S B

*hv{y A g iy = fan s, :_22:17}’:!2&#5
M, =3 mg = 2 o, 7 my = 64 2°
M 1921 8 alht £
C (Yo = + - !
0) A B c b |5/q S (128 +128)%
h3 82 da s4 h. B
T=0 | 11,3 82 92 13
3. @) Avzry=B
T=1 1,3 a1 Y 3
=9 —_— Y |3’|1 - A) B_> [39M—> (Q‘)/L{’?\/—DW‘;?C
T=3 — - - - € CO>WHV2 U 2Q> M2 Y>Z>RPZ 2V>D
Ty - = - = AV Rablhan 2 fagy e 7 cltn
C) T=0 = D> 2 4 Mg)h// J) \/ -l L) tx 1htss \9)’ n Jatin W!‘u\o\ Bg b‘aa&m
T= 1 = B72
(=2

T=2=> A»>
E->2

T=3 = B2
¢ 2

Expucasl 4,5 148
g e

Rdllmmi/mn 224

¢) S Stad— 1,23, 16
Didangas = 15,6,%,9,4, (113,14 1€

Fw;* R‘@Uﬂ‘y - lo

Examel - 2021 P4gina 1



